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May 20, 2019, Monday

U sethe information provided to write the general conic form equation of each circle.

1) (x-3F+(y-2V=36
A) X+ vV +6x+4y-23=0
B) x"+ 3 + 2x+ 10y - 1270=0
C) xf"',"'i— dx+6y-23=0 Use the information provided to write the general conic form equation of each circle
Dy x+y —tx—4yv-23=0 . .
1) (x=-3r+(p-2y=16
A) X+ +6x+4y-23=0
BE) x + 37+ 2x+ 10y —1270=0
C)x+y—dx+6y-23=0
Use the information provided towrite the D) x+ 3" —6x—4y—23=0
2) 43 +20x+ 2y + T6=10
A) (x= 17+ (y-10F =625
BY (x+10F +(y+ 1)7=25
C) (x- 1{})1_,_{:,-_,_ 1}1=25 Usethe information provided to write the standard form eguation of each circle.
D) (x+ 107 +(y+ 1) =625 2) R 437 +20x+ 2y +76=0
A) (= 1P +(y-10F =625
B) (x+10F +(y+ 1)7=25
C) (x=10F +(p+1)7=25
D) (x+ 107 +(y+1F =625
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Study Guide
Example

1) Write an equation of the circle with a radius of 5 and
center at (1,—4).

Equation: (x = |)2+ (y= Y)? =5_2
x-12+ g +P2=2

(x-4)2+ (y-1)2=9
(xzUXX-Y)+

YEUX-UR A+ ye |.,~|-,+|-°\
Xl"%x-“?-l-uf- _1\3

X2 4yt %x—23+%-o

5) What is the center and radius of the circle whose

equatumls «\V 41
x* +y -14x+4y-11=0
Y -Nx \,‘L-q‘-_l_y =1)

(¥ 1\’—4 (\g-vz_\"-

2

7) Circle C has a center of (3,4)anda radl’us%;’ 5. Does
the point (0, 10) lie on circle C?

Center: ( ,

x-h)E+y-k)2= rz X 7',
NN n_) O (0)
(0 -E'})‘ + 3( -
<+
? £2%<
Yes/No? 1. y:s XV

9) A circle has center C(3,1 ) and A( 5,3) is a point on
the circle. Does the point P( 3,-1) fall on the circle?

Name

You Try

2) Write an equation of the circle with a radius of 2 and
center at (2, 5).

Equation: (#p@)2 + (ym§ )>=a
v (=)t (g e Y

N\ Convert to the general form of a circle
o +8)2
X-3Yx-3) 3—(\;+9X5+'&)-1§

XU3x=3x40 4 9y + Dy =29
- Lx 4-1;1--, 1-7\.9 9%,

(x- 43+( _,2)__|I+~M+'-I(

XAy (px 43y t48 7 o

6) What is the center and radius of the circle whose

equation is LY V)

x2+y2—ax+4y 6=0 -
x"fy V'-dy - b y

e HY - ;,L)_ = 4l t
(x= ,;)'L l—(q }‘—(p

Center: (L’_,a_) r:]

8) Circle C has a center of (4, 1) and a radius of 8. Does the

point (-4, 9) lie on circle C?

(x-h)?+(r-k)?=r? (X"

Yes/No? ‘\_‘ O

10) A circle has center C(2, 3) and A( 5,-1) is a point on the
circle. Does the point P(-1,7) fall on the circle?

AvYs
32 +(3 -1y =lded

-7

CP =\[(_3=

cA=/(9

i1 =Tosy

Since CA CP (choose one: = or #), point P
‘S * J(chose one: does or doesn't) fall on the circle.

ESNCEE VT R )“‘Scf b

P —JCl =2+ ([ -3

i — cp (choose one: = or #), point @“
(chose one: does or doesn’t) fall on the circle.

Since CA
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11) Find the equation of the circle, in standard form for
the following circle.

Center: (i l_) radius =a
Equation: (x = 3)2+ (y-2)?=2 2
x43)2+(y-2)=Y

13) Given the points (x—!l- ll')i and (-7, —tg‘ﬁnd the

distance.
=/ W2+ M -1)?
-4y13
15) Find the distance of the line séfment graphed
below.

Points:. '(i. _5_) &( l i)
=/() =97+ GZ—S)Z

17) Write the equation of the line parallel to y =3x- 4,
and goes through (3,4).

3 Y=mxrbh Yemxt b
m -us 3(3)+b
TETT——(— ~ ‘g—

19) Write the equation of the line perpendicular to y =
3x - 4, and goes through (3,-4).

BT

“Y=-14b
+)

—

"3:b

Y= Sx-13 0

m )(Lb

m==, _ N
m=_/3 l)\l_, _3,(3)_\,5 \}

12) Find the equation of the circle, in standard form for the
following circle.

mUE 4 6 810

Center: (___,  )radius=__
Equation: (x )2+ (y )=
& »+@ )=
14) Given the points (-3,-9) and (-2, -6), find the distance.
/O - 2+ - )

16) Find the distance of the line segment graphed below.

bV

A

r 5

=3
R

4

A

Y
Points: ( ,

=V(

)& )

— )24

)2

18) Write the equation of the line parallel to y = _?3;: +2,
and goes through (-4,5)

mﬁ_
y- yl—m(x X1)

20) Write the equation of the line perpendicular to
y = —2x — 2 and goes through (4,1).

m=__.
y-yi=m(x-x,)
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Find the midpoint of the line segment with the given endpoints.
1 (~4.2). (6.0)

A (16.2) B (1) May 21, 2019, Tuesday
0 (.1 D) (-1.3)

Find the distanc e heiw|

meCessary.
Find the distance between each pair of points. Round your answer to the nearest tenth, if
necessary. "p}
2 !
: MEIE: B
15 T -
A) 238 B) 24
0 9.1 DL ) 1N d —
9. . S~ . - X Y
- Given ME as shown at the right. Find (-5.6) LR
the coordinates of partition point P that d 2 A) 2.8 By 2.4
divides directed segment ME into a 1:3 .\3 O 9.1 D) 5.1
ratio. 2 \
T N N ) A\'g.‘a 10
.2 M
Choose: 4t (7:-2)
2 Hm Caod JABEREL L
(2, 1) (1,2) P e
-0}

(}+1+3(5% l+|P'b( ))
Led(-, -2+ (%)
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%Y, X%V
21) Given the points A(-3,4) and B(-7,12), find the
coordinates of the point P on the directed line
»\segmentAB that partitions in the ratio of 1:3

QN Y
1:3=

A(-3,4)

23)Ei lthec“){ of P so that P partitions AB. If

L3

p-wle oY

25) Find the midpoint of (4,10) and (-7, -4)

h ;_J', 104

3.3
2
15, 2)
27) Use the two-way frequency table to answer the
following questions.
Male Female | Total
Born in GA 7 5 12
NotBorninGA | 16 13 29
Total 23 18 41

1
a) P(Female) —_g“ 5

b) P(Female n Bornin GA) = E |

c) P(Female|Bornin GA) =

d) P(Male U Notborn in GA) = ' E

4

-3+t D Yoo .

A(-1,2) and B(7,14), find the location of point P thatis % | ¢ q 2,4) and B(7.-2), find the location of point P that m_ll_S
the dis‘tance from point A. the distance from point A.
- - A P )
-B ﬂX—Xz X1= ‘2+"-|3(? 2

A(12)( H‘, (:} ‘) 2'+I~ (H 224)

22) Given the points P(2, —1) & Q(—9, —6), find the
coordinates of the point S on the directed line segment
PQ thatparul:lons PQ into the ratio 3: 2?

¢ Y55 (-1-2 )=2.5
- "‘}Tz_ (-—*6"/7:—-L{

P(2,-1)

b,

24) Find the coordinates of P so that P partitions AB. If A(-

=L{ + l'f‘:,’(-?.' q) =
02529

26) Find the midpoint of (-3,-9) and (-2, -6)

32
s ~1s,
x 2

28) A random survey was conducted about gender and hair
color. This table records the data.

Hair Color

Brown Red

1,506

612 716 66 1,394
1,160 1.592 148 2,900

a) P(Male) = Q)O o
b) P(Male n Blonde hair) =
c) P(Male|Brown hair) =

%55'0

1160
€&
L 90a

d) P(Female U Red hair) =
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29) Determine which events are independent.
P(A N B) = P(A) - P(B)

a) P(A) = 0.15; P(B) = 0.20; P(A and B) = 0.35.

b) P(A) = 0.12; P(B) = 0.4; P(A and B) = 0.048.

) P(A) = 0.15; P(B) = 0.24; P(A and B) = 0.09.

d) P(A) = 0.6; P(B) = 0.15; P(A and B) = 0.21.

31) A magician showed a magic trick where he picked
one card from a standard deck. What is the

probability of selecting a red or black card from the
deck of cards?

33) Find the probability of each given situation.

a) Youroll a dice 4 times. Find the probability of
rolling 4's all four times?

b) Youroll a dice 4 times. Find the probability of
rolling 1's all four times?

35) Use the venn diagram to answer the questions.
Surfing

A
()

15 Swimming

Sailing

a) How many students either surf or swim?

b)How many students do not like either Surfing or
Swimming ?

c¢) Find P(Surf n Sail N Swim).
d)Find P(Sailing) =

e) Find P(Surfing) =

30) Determine which events are independent.
P(A N B) =P(A) - P(B)

a) P(A) = 0.24; P(B) = 0.2; P(A and B) = 0.048.

b) P(A) = 0.9; P(B) = 0.4; P(A and B) = 0.13.

c) P(A) = 0.64;P(B) = 0.1;P(Aand B) = 0.74

d) P(A) = 0.45; P(B) = 0.65; P(A and B) = 0.20.

32) You roll a six- sided die. What is the probability of
rolling an even or odd number?

34) Find the probability of each given situation.

a) Youroll adice 3 times. Find the probability of
rolling 3’s all three times?

b) You roll a dice 3 times. Find the probability of
rolling 2’s all three times?

36) Use the Venn diagram to answer the questions.
Wrestling

Tennis

16 Golf

a) How many students either golf or wrestle?

b) How many students do not like either Tennis or Golf ?

c) Find P(Wrestle N Tennis N Golf).
d) Find P(Tennis) =

e) Find P(Wrestling) =
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Geiven: the followirg spinner,
determine the probabiliny:

F{orange)
F{red or green)
P {nol red)

F {pirik)

May 22, 2019, Wednesday

The table shows the results of a spinner

experiment. Find the experimental probability.

| Mumber

Occurrences | spinning a 4

B | Ll | RS

G
11
1 ]
g
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37) In a bowl of marbles, there are 10 red ones, 6 green
ones, and 8 blue ones. Mary will choose 2 marbles at
random, with replacement. What is the probability that
she will choose

a) both red marbles

b) Red and Blue marble

39) In a bowl of marbles, there are 10 red ones, 6 green
ones, and 8 blue ones. Mary will choose 2 marbles at
random, without replacement What is the probability
that she will choose

a) both red marbles

b) Red and Blue marble

41) Keisha has a stack of 8 baseball cards, 5 basketball
cards, and 6 soccer cards. If she selects a card at random
from the stack, what is the probability that it is a baseball
or a soccer card?

38) A bag contains 4 white, 3 blue, and 6 red marbles. A
marble is drawn from the bag, replaced, and another marble
is drawn. What is the probability that she will choose

a) both white marbles

b) Blue and white

40) A bag contains 4 white, 3 blue, and 6 red marbles. A
marble is drawn from the bag, is not replaced, and
another marble is drawn.

a) both white marbles

b) Blue and white

42) A basket contains three apples, three peaches, and four
pears. You randomly select a piece of fruit What is the
probability that you select an apple or a pear?
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May 23, 2019 Thursday

Write two good short answer questions for a final exam
& include the answer.
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May 24, 2019, Friday

Write two good multiple choice questions for a final exam
& include the answer.

10
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